B2

| can afford a new car.

Answer:

she has to save money.
Answer:

they invest in the stock market.
Answer:

it is important to manage your finances.

Answer:

we should budget our expenses.
Answer:

he borrowed money from the bank.
Answer:

she spends her money wisely.
Answer:

they should start a retirement fund.
Answer:

it is necessary to pay bills on time.
Answer:

we earn money by working.
Answer:




Answers

| can afford a new car.

Answer: Only if

she has to save money.
Answer: Only if

they invest in the stock market.
Answer: Only if

it is important to manage your finances.

Answer: Only if

we should budget our expenses.
Answer: Only if

he borrowed money from the bank.
Answer: Only if

she spends her money wisely.
Answer: Only if

they should start a retirement fund.
Answer: Only if

it is necessary to pay bills on time.
Answer: Only if

we earn money by working.
Answer: Only if



